11+ Practice Tests 11+ English Test 2 (Ages 10-11) ‘ ﬁ Exquinfa

Select the word that best fits the blank space in the following sentence:

The teacher announced important that all students attend the school assembly.

A it's B its C it D that 1

Select the word that best fits the blank space in the following sentence:

The loud clanging of the church bells the townspeople from their peaceful slumber.

A roused B rose C rised D risen 1

H The sentence below may contain one spelling mistake.

Select the group of words which contains the error, or choose 'No mistake' if the sentence is correct.

The enthousiastic archaeologist carefully brushed the dust off the ancient pottery shards discovered at the
dig site.

A The enthousiastic B carefully brushed the C off the ancient pottery D No
archaeologist dust shards mistake 1

n The sentence below may contain one spelling mistake.

Select the group of words which contains the error, or choose 'No mistake' if the sentence is correct.

A colony of industrious ants scurried accross the forest floor, searching for fallen leaves and twigs. I:I

A A colony of industrious B antsscurriedaccross  C the forest floor, searching D No mistake 1

Select the group of words that correctly completes the following sentence:

The ancient castle constructed during the 72”7 century.

A must have been B had been C has been D must have being 1
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n Read the sentence below carefully:

Samantha couldn't hear over the noise of the excited crowd, despite her friend shouting the answer.
Which of the following words in the sentence is a preposition? I:'

A over B excited C couldn't D shouting 1

n Read the sentence below carefully:

Laughing loudly, the children raced across the playground towards the ice cream van.

Which of the following words is an adverb in this sentence? |:|

A Laughing B loudly C raced D towards 1

m The sentence below may contain one spelling mistake.

Select the group of words which contains the error, or choose 'No mistake' if the sentence is correct.
The mischevious puppy chewed through its lead and ran after a squirrel in the park. |:|

A The mischevious puppy B chewed through its lead C andran after a squirrel D No mistake 1
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